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#1: 7 TW Open(16.39) #2: 3 B¥8(16.18) #3: 6 UNE(11.14)

1 NS: Pdat $8{-88GH0) -19 2 NS: SE#4E 2@ EIC) -17 VP:| 10.39 : 9.61 Total VP: 10.39 Rank:
EW izt gug(aqc) 17 EW: RE B &i5T(BO) 19 IMP:| 27 26 4
.
#1 . K2 23E3 -140 Mean: 4SW-3 150 4.0 1 [[|# 2 » Q6 1NW-2 100 Mean: 3DE-3 150 40 1
v AQJB5 4SW-2100 -10  4SW-2 100 3.0 1 v J93 2HW2-110 o© 3HE-2 100 30 1
*J Dif: -240 NS:-4 2SW-1 50 20 2 * KJ74 Dif: 210 NS:3 1NW-2 100 30 1
» T9832 IMP: -6 EW:-3 A 00 2 & AK82 IMP: 5 EW:3 2HW-1 50 20 1
# A9874 s T63 2sW2 10 -3.0 1 ||a J852 » AT A 00 2
v K92 v T43 2SE2 110  -3.0 1 ||w 8652 I v AQ74 2NN-1 100 -3.0 1
. A964 * KT8 3SW3 140  -40 1 ||e A ¢ QT652 2HW2 110 3.0 3
& A » K754 2SE3 140  -40 1 ||a 9743 » J5
B+ ¢VAN ,QF5 % ¢ VBN 4 KI743
N 2~1~~ 987 N 21~21 KT
S 2~2~~ ¢Q7532 S 21~21 983
E~1~21 «QJ6 E ~~1~~ &QT6
W ~1~31 ~~1~~
# 3 o J52 4SW4 -620 Mean: 4SW-2 200 60 1 |[|# 4 a3 3HN4 170 Mean: 2HXN4 1070 130 1
v Q7 2NE-1100 -40  4SW-1 100 40 1 v AKJ82 3HN4170 190 A 00 2
+ KT952 Dif: -720 NS:-11  3DN3 110 40 1 ¢ AJTT72 Dif: 0 NS:-1 3HN4 170 1.0 2
& KQ5 IMP: -12 EW:-4 2NE-1 100 40 1 & 85 IMP: 0 EW:1 2HN4 170 1.0 1
& A964 » K873 A 00 2 ||as AK85 & QT76 2DN4 130 -20 1
v T8 v AK32 3DN-1 50 00 2 ||eT9 + v 763 3SE-1 100 3.0 1
¢ Q84 7 25W2 410 20 1 ||e Q54 * 83 25W2 410 7.0 1
& JT76 » A984 4swa 620 -11.0 1 ||& AK76 a QJ93 2SE2 410 7.0 1
F*eVAN L,QT oo VAN 4 JO42
N ~21~~ «J9654 N ~44~~ Q54
S ~21~~ ¢AJG3 S ~ 44~ ~ ¢ K96
E3~~41a32 E3~~2~ aT42
W 3~ ~ 41 3~~2~
#5 42 3SE4 -170 Mean: 3HN-1 100 50 1||#6 & 9754 4SXN-2 -300 Mean: 2CE-1 100 70 1
v KT9432 4SXW4 -590 -300 3SE4 170 40 1 v 983 3DXE3 -670 -190  1NS1 920 70 1
¢ Q43 Dif: 420 NS:4 4HS-2 200 3.0 1 ¢ T8732 Dif: 370 NS:-3 2HS-1 50 40 1
» QJ IMP: 9 EW:7 4HN-2 200 3.0 2 % 6 IMP: 9 EW:10 4SN-2 100 3.0 1
s QT98 a KJ75 A 00 2 (|a2 » QJB3 A 00 2
v38 v A5 4SE4 420  -3.0 1 ||e T7542 — vJ 4SXS-2 300 -3.0 1
¢ KT2 * 9875 4SXW4 590 <70 2 ||e Q654 * AKJ9 4SXN-2 300 3.0 2
& AKT52 » 983 & QT8 & AJ93 3DXE3 -670 -10.0 1
* ¢V AN ,AG3 % ¢ VAN 4 AKT6
N ~~2~~ 9»QJ76 N ~~12~ v AKQ6
S ~~2~~ ¢AJ6 S ~~12~ o
E 43~4~ &764 E 12~~1 &K7542
W 43 ~4~ ~1~~1
#7 a5 3NS4 630 Mean: 3NS4 630 40 1 |[|# 8 o J743 3NE5 -460 Mean: 6DE-1 50 70 3
v KQ3 4SXE-2 500 500  3NS3 600 30 4 v QJ 3NW5 -460 -260 A 00 2
« AK542 Dif: 130 NS:4 3NN3 600 3.0 1 ¢ 754 Dif: 0 NS:-5 3NW5 460 -50 4
& KQ75 IMP: 4 EW:0 A 00 2 & A964 IMP: 0 EW:5 3NE5 460 5.0 1
& T976 & AJ832 4SXE-2 500 00 1 & AK98 a6
v J9862 + v5 5081 100 120 1 ||w 932 v AK75
¢ 9 ¢ J873 + Q83 ¢ AKJT2
& J94 S » AT8 & KJT » Q82
P VAN o, KQ4 oo VAN 4 QT52
N 252~4 9oAT74 N ~~~~~ v T864
S 242~4 +QT6 S ~~~~ ~ 96
E ~~~~~ & 632 E ~54~5 &753
W~~~ ~ ~ ~54~5
#9 & K742 5CXS-1-100 Mean: 5HW-1 100 50 2 ([|# 10 4 K654 1NS-1-100 Mean: 4SXE-2 500 9.0 1
v T73 5CS-1-50 -80  5CS-1 50 1.0 1 v Q73 1NS2 120 100  1NS2 120 1.0 1
* Q5 Dif: -50 NS:-1 A 0.0 2 ¢ 64 Dif: -220 NS:-5 A 00 2
& AT92 IMP: -2 EW:-1 5CXS-1 100 1.0 1 » KQ82 IMP: -6 EW:-1 3CS3 110 00 1
o AT & QJ985 5CXN-1 100 1.0 1 ||as J83 & ATI972 1NS1 90 00 3
v AKQJ92 v 864 3HW3 140 20 1 v K8 _I_ v T642 1NS-1 100 -50 1
+ J864 * KT7 3HW4 470 -3.0 1 ||e AJO72 ¢ T8 1NN-1 4100 -5.0 1
® 4 a 73 6CXS-2 300 -60 1 ||a T64 a A7
o ¢VABN 4,63 o4VABN ,Q
N 4~~~~ 95 N 2~1~~ 9 AJ9S
S 4~~~ ~ ¢A932 S 3~1~~ ¢KQ53
E ~23 2~ &KQJ865 E ~2~21 #J953
W ~232~ ~2~21
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#1: 7 TW Open(16.39) #2: 3 B¥8(16.18) #3: 6 UNE(11.14)

2 NS: Sogf4s 2218¥EEHC) -17 1 NS: 5 $E{ZH(BO) -19 VP:| 9.61 10.39| Total VP: 9.61 Rank:
EW L=y ﬁﬂﬂ:ﬁ(ﬁﬁo) 19 EW: ffifm{t BREIEE (BAC) 17 IMP:| 26 27 6
.
#1 'y K2 25E3 140 Mean: 4SW-3 150 4.0 1 [[# 2 » Q6 1NW-2 -100 Mean: 3DE-3 150 40 1
v AQJB5 4SW-2 -100 -10  4SW-2 100 3.0 1 v J93 2HW2110 o 3HE-2 100 3.0 1
*J Dif: 240 NS:3  2SW-1 50 20 2 * KJ74 Dif: -210 NS:-3 1NW-2 100 30 1
» T9832 IMP: 6 EW:4 A 00 2 & AK82 IMP: -5 EW:-3 2HW-1 50 20 1
& A9874 s T63 25W2 10 -3.0 1 ||a J852 s AT A 00 2
v K92 v T43 2SE2 110 -3.0 1 ||w 8652 I v AQ74 2NN-1 100 -3.0 1
* A964 * KT8 3SW3 140  -40 1 ||e A * QT652 2HW2 110 3.0 3
& A » K754 2SE3 140 -40 1 ||a 9743 » J5
B+ ¢VAN ,QF5 % ¢ VBN 4 KI743
N 2~1~~ 987 N 21~21 KT
S 2~2~~ ¢Q7532 S 21~21 983
E ~1~21 #QJ6 E ~~1~~ &QT6
W ~1~31 ~~1~~
# 3 o J52 4SW4 620 Mean: 4SW-2 200 60 1 |[|# 4 a3 3HN4 -170 Mean: 2HXN4 1070 130 1
v Q7 2NE-1-100 -40  4SW-1 100 40 1 v AKJ82 3HN4 -170 190 A 00 2
+ KT952 Dif: 720 NS:4 3DN3 110 40 1 ¢ AJTT72 Dif: 0 NS:-1 3HN4 170 1.0 2
& KQ5 IMP: 12 EW:11 2NE-1 100 40 1 & 85 IMP: 0 EW:1 2HN4 170 1.0 1
» A964 » K873 A 00 2 ||as AK85 & QT76 2DN4 130 -20 1
v T8 v AK32 3DN-1 50 00 2 ||eT9 + v 763 3SE-1 100 3.0 1
¢ Q84 7 25W2 410 20 1 ||e Q54 * 83 25W2 110 7.0 1
& JT76 a A984 4swa 620 -11.0 1 ||& AK76 & QJ93 2SE2 410 7.0 1
F*eVAN L,QT oo VAN 4 JO42
N ~21~~ «J9654 N ~44~~ Q54
S ~21~~ ¢AJG3 S ~4 4~ ~ ¢ KO
E 3~~41 a32 E 3~~2~ &T42
W 3 ~~41 3 ~~2~
#5 42 3SE4 170 Mean: 3HN-1 100 50 1||#6 & 9754 4SXN-2 300 Mean: 2CE-1 100 70 1
v KT9432 4SXW4 590 -300 3SE4 170 40 1 v 983 3DXE3 670 -190  1NS1 90 70 1
¢ Q43 Dif: -420 NS:-7 4HS-2 200 3.0 1 ¢ T8732 Dif: -370 NS:-10 2HS-1 50 40 1
& QJ IMP: -9 EW:-4 4HN-2 200 3.0 2 % 6 IMP: -9 EW:3 4SN-2 100 3.0 1
4 QT98 a KJ75 A 00 2 (|a2 & QJ83 A 00 2
v38 v A5 4SE4 420  -3.0 1 ||e T7542 — vJ 4SXS-2 300 -3.0 1
¢ KT2 * 9875 4SXW4 590 7.0 2 ||e Q654 * AKJ9 4SXN-2 300 3.0 2
& AKT52 » 983 & QT8 & AJ93 3DXE3 -670 -10.0 1
* ¢V AN ,AG3 %oV ABN 4 AKTO
N ~~2~~ 9»QJ76 N ~~12~ v AKQ6
S ~~2~~ ¢AJ6 S ~~12~ o
E 43 ~4~ #764 E 12~~1 &K7542
W 43 ~4~ ~1~~1
#7 a5 3NS4 -630 Mean: 3NS4 630 40 1 |[|# 8 o J743 3NE5 460 Mean: 6DE-1 50 70 3
v KQ3 4SXE-2 -500 500  3NS3 600 3.0 4 v QJ 3NW5460 -260 A 00 2
« AK542 Dif: -130 NS:0 3NN3 600 3.0 1 ¢ 754 Dif: 0 NS:-5 3NW5 460 -50 4
& KQ75 IMP: -4 EW:-4 A 00 2 & A964 IMP: 0 EW:5 3NE5 460 5.0 1
& T976 & AJ832 4SXE-2 500 00 1 & AK98 a6
v J9862 + v5 5081 100 120 1 ||w 932 v AK75
¢ 9 ¢ J873 + Q83 ¢ AKJT2
& J94 S » AT8 & KJT » Q82
Fo VAN o, KQ4 oo VAN 4 QT52
N 252 ~4 9AT74 N ~~~~~ v T864
S 242 ~4 4QT6 S ~~~~~ ¢ 96
E ~~~~~ & 632 E ~54~5 &753
W o~~~ ~ ~ ~54~5
#9 & K742 5CXS-1 100 Mean: 5HW-1 100 50 2 ([|# 10 4 K654 1NS-1 100 Mean: 4SXE-2 500 9.0 1
v T73 5CS-150 -80 5CS-1 50 1.0 1 v Q73 1NS2-120 100  1NS2 120 1.0 1
* Q5 Dif: 50 NS:1 A 00 2 * 64 Dif: 220 NS:1 A 00 2
& AT92 IMP: 2 EW:1 5CXS-1 100 1.0 1 » KQ82 IMP: 6 EW:5 3CS3 110 00 1
o AT & QJ985 5CXN-1 100 1.0 1 ||as J83 & ATI972 1NS1 90 00 3
v AKQJ92 v 864 3HW3 140 20 1 v K8 _I_ v T642 1NS-1 100 -50 1
+ J864 * KT7 3HW4 470 -3.0 1 ||e AJO72 ¢ T8 1NN-1 4100 -5.0 1
® 4 a 73 6CXS-2 300 -60 1 ||a T64 a A7
o ¢VABN 4,63 o4VABN ,Q
N 4~~~~ 95 N 2~1~~ 9 AJ9S
S 4~~~ ~ ¢A932 S 3~1~~ ¢KQ53
E ~23 2~ &KQJ865 E ~2~21 #J953
W ~232~ ~2~21
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#1: 7 TW Open(16.39) #2: 3 B¥8(16.18) #3: 6 UNE(11.14)

3 NS: #5210 BREEEGHO) 18 4 NS: BREZ<F MigF(BAC) -12 VP:| 16.18 : 3.82 Total VP: 16.18 Rank:
EW: BRHEE HBEEIC) 12 EW: 8lfE& 5Ei5(F0) -1 IMP:| 46 25 2
- I .
#1 » K2 2SW2 -110 Mean: 4SW-3 150 4.0 1 [[# 2 » Q6 2HW-1 50 Mean: 3DE-3 150 40 1
v AQJB5 3SW3 -140 -10  4SW-2 100 3.0 1 v J93 3HE-2100 © 3HE-2 100 3.0 1
*J Dif: 30 NS:-3 2sw-1 50 20 2 * KJ74 Dif: -50 NS:2 1NW-2 100 30 1
» T9832 IMP:1 EW:4 A 00 2 & AK82 IMP: -2 EW:-3 2HW-1 50 20 1
& A9874 s T63 25W2 10 -3.0 1 ||a J852 s AT A 00 2
v K92 v T43 2SE2 110 -3.0 1 ||w 8652 I v AQ74 2NN-1 100 -3.0 1
* A964 * KT8 3SW3 140  -40 1 ||e A * QT652 2HW2 110 3.0 3
& A » K754 2SE3 140 -40 1 ||a 9743 » J5
B+ ¢VAN ,QF5 % ¢ VBN 4 KI743
N 2~1~~ 987 N 21~21 KT
S 2~2~~ ¢Q7532 S 21~21 983
E ~1~21 #QJ6 E ~~1~~ &QT6
W ~1~31 ~~1~~
# 3 o J52 4SW-1 100 Mean: 4SW-2 200 60 1 |[|# 4 a3 2HXN4 1070 Mean: 2HXN4 1070 130 1
v Q7 4SW-2200 -40  4SW-1 100 40 1 v AKJ82 2SW2 -110 190 A 00 2
+ KT952 Dif: -100 NS:4 3DN3 110 40 1 ¢ AJTT72 Dif: 1180 NS:13 3HN4 170 1.0 2
& KQ5 IMP: -3 EW:-6 2NE-1 100 40 1 & 85 IMP: 15 EW:7 2HN4 170 1.0 1
» A964 » K873 A 00 2 ||as AK85 & QT76 2DN4 130 -20 1
v T8 v AK32 3DN-1 50 00 2 ||eT9 + v 763 3SE-1 100 3.0 1
¢ Q84 7 25W2 410 20 1 ||e Q54 * 83 25W2 110 7.0 1
& JT76 a A984 4swa 620 -11.0 1 ||& AK76 & QJ93 2SE2 410 7.0 1
F*eVAN L,QT oo VAN 4 JO42
N ~21~~ «J9654 N ~44~~ Q54
S ~21~~ ¢AJG3 S ~4 4~ ~ ¢ KO
E 3~~41 a32 E 3~~2~ &T42
W 3 ~~41 3 ~~2~
#5 42 4HN-2 -200 Mean: 3HN-1 100 50 1||#6 & 9754 2CE-1100 Mean: 2CE-1 100 70 1
v KT9432 4SXW4 -590 -300 3SE4 170 40 1 v 983 4SXN-2 -300 -190 1NS1 90 70 1
¢ Q43 Dif: 390 NS:3 4HS-2 200 3.0 1 ¢ T8732 Dif: 400 NS:7 2HS-1 50 40 1
& QJ IMP: 9 EW:7 4HN-2 200 3.0 2 % 6 IMP: 9 EW:3 4SN-2 100 3.0 1
4 QT98 a KJ75 A 00 2 (|a2 & QJ83 A 00 2
v38 v A5 4SE4 420 -3.0 1 ||w T7542 — vJ 4SXS-2 300 -3.0 1
¢ KT2 * 9875 4SXW4 590 7.0 2 ||e Q654 * AKJ9 4SXN-2 300 3.0 2
& AKT52 » 983 & QT8 & AJ93 3DXE3 -670 -10.0 1
* ¢V AN ,AG3 %oV ABN 4 AKTO
N ~~2~~ 9»QJ76 N ~~12~ v AKQ6
S ~~2~~ ¢AJ6 S ~~12~ o
E 43 ~4~ #764 E 12~~1 &K7542
W 43 ~4~ ~1~~1
#7 a5 3NS3 600 Mean: 3NS4 630 40 1 |[|# 8 o J743 3NW5 -460 Mean: 6DE-1 50 70 3
v KQ3 5DS-1-100 500  3NS3 600 3.0 4 v QJ 6DE-150 -260 A 00 2
« AK542 Dif: 700 NS:3  3NN3 600 3.0 1 ¢ 754 Dif: -510 NS:-5 3NW5 460 -50 4
& KQ75 IMP: 12 EW:12 A 00 2 & A964 IMP: -11 EW:-7 3NE5 460 -50 1
& T976 & AJ832 4SXE-2 500 00 1 & AK98 a6
v J9862 + v5 5081 100 120 1 ||w 932 v AK75
¢ 9 ¢ J873 + Q83 ¢ AKJT2
& J94 S » AT8 & KJT » Q82
Fo VAN o, KQ4 oo VAN 4 QT52
N 252 ~4 9AT74 N ~~~~~ v T864
S 242 ~4 4QT6 S ~~~~~ ¢ 96
E ~~~~~ & 632 E ~54~5 &753
W o~~~ ~ ~ ~54~5
#9 & K742 6CXS-2 -300 Mean: 5HW-1 100 50 2 ([|# 10 4 K654 1NS1 90 Mean: 4SXE-2 500 9.0 1
v T73 5HW-1100 -80 5CS-1 50 1.0 1 v Q73 1NS190 100 1NS2 120 1.0 1
* Q5 Dif: -400 NS:-6 A 00 2 * 64 Dif: 0 NS:0 A 00 2
& AT92 IMP: -9 EW:-5 5CXS-1 100 1.0 1 » KQ82 IMP: 0 EW:0 3CS3 110 00 1
o AT & QJ985 5CXN-1 100 1.0 1 ||as J83 & ATI972 1NS1 90 00 3
v AKQJ92 v 864 3HW3 140 20 1 v K8 _I_ v T642 1NS-1 100 -50 1
+ J864 * KT7 3HW4 470 -3.0 1 ||e AJO72 ¢ T8 1NN-1 4100 -5.0 1
® 4 a 73 6CXS-2 300 -60 1 ||a T64 a A7
o ¢VABN 4,63 o4VABN ,Q
N 4~~~~ 95 N 2~1~~ 9 AJ9S
S 4~~~ ~ ¢A932 S 3~1~~ ¢KQ53
E ~23 2~ &KQJ865 E ~2~21 #J953
W ~232~ ~2~21
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#1: 7 TW Open(16.39) #2: 3 B¥8(16.18) #3: 6 UNE(11.14)

4 NS: B&ST MREEFEEAC) -12 3 NS: ¥ 518 BRiZZE(FH0) 18 VP:| 3.82 16.18 | Total VP: 3.82 Rank:
EW: Bl 52 5EH0) -18 EW: GRHEE 88 (BAC) 12 IMP:| 25 46 8
- . .
#1 » K2 2SW2 110 Mean: 4SW-3 150 4.0 1 [[# 2 » Q6 2HW-1 -50 Mean: 3DE-3 150 40 1
v AQJB5 3SW3 140 -10  4SW-2 100 3.0 1 v J93 3HE-2-100 © 3HE-2 100 3.0 1
*J Dif: -30 NS:-4 2SW-1 50 20 2 * KJ74 Dif: 50 NS:3 1NW-2 100 30 1
» T9832 IMP: -1 EW:3 A 00 2 & AK82 IMP: 2 EW:-2 2HW-1 50 20 1
& A9874 s T63 25W2 10 -3.0 1 ||a J852 s AT A 00 2
v K92 v T43 2SE2 110 -3.0 1 ||w 8652 I v AQ74 2NN-1 100 -3.0 1
* A964 * KT8 3SW3 140  -40 1 ||e A * QT652 2HW2 110 3.0 3
& A » K754 2SE3 140 -40 1 ||a 9743 » J5
B+ ¢VAN ,QF5 % ¢ VBN 4 KI743
N 2~1~~ 987 N 21~21 KT
S 2~2~~ ¢Q7532 S 21~21 983
E ~1~21 #QJ6 E ~~1~~ &QT6
W ~1~31 ~~1~~
# 3 o J52 4SW-1-100 Mean: 4SW-2 200 60 1 |[|# 4 a3 2HXN4 -1070 Mean: 2HXN4 1070 130 1
v Q7 4SW-2 -200 -40  4SW-1 100 40 1 v AKJ82 2SW2110 190 A 00 2
+ KT952 Dif: 100 NS:6 3DN3 110 40 1 ¢ AJTT72 Dif: -1180 NS:-7 3HN4 170 1.0 2
& KQ5 IMP: 3 EW:-4 2NE-1 100 40 1 & 85 IMP: -15 EW:-13 2HN4 170 1.0 1
» A964 » K873 A 00 2 ||as AK85 & QT76 2DN4 130 -20 1
v T8 v AK32 3DN-1 50 00 2 ||eT9 + v 763 3SE-1 100 3.0 1
¢ Q84 7 25W2 410 20 1 ||e Q54 * 83 25W2 110 7.0 1
& JT76 a A984 4swa 620 -11.0 1 ||& AK76 & QJ93 2SE2 410 7.0 1
F*eVAN L,QT oo VAN 4 JO42
N ~21~~ «J9654 N ~44~~ Q54
S ~21~~ ¢AJG3 S ~4 4~ ~ ¢ KO
E 3~~41 a32 E 3~~2~ &T42
W 3 ~~41 3 ~~2~
#5 42 4HN-2 200 Mean: 3HN-1 100 50 1||#6 & 9754 2CE-1-100 Mean: 2CE-1 100 70 1
v KT9432 4SXW4 590 -300 3SE4 170 40 1 v 983 4SXN-2300 -190 1NS1 90 70 1
¢ Q43 Dif: -390 NS:-7 4HS-2 200 3.0 1 ¢ T8732 Dif: -400 NS:-3 2HS-1 50 40 1
& QJ IMP: -9 EW:-3 4HN-2 200 3.0 2 % 6 IMP: -9 EW:-7 4SN-2 100 3.0 1
4 QT98 a KJ75 A 00 2 (|a2 & QJ83 A 00 2
v38 v A5 4SE4 420 -3.0 1 ||w T7542 — vJ 4SXS-2 300 -3.0 1
¢ KT2 * 9875 4SXW4 590 7.0 2 ||e Q654 * AKJ9 4SXN-2 300 3.0 2
& AKT52 » 983 & QT8 & AJ93 3DXE3 -670 -10.0 1
* ¢V AN ,AG3 %oV ABN 4 AKTO
N ~~2~~ 9»QJ76 N ~~12~ v AKQ6
S ~~2~~ ¢AJ6 S ~~12~ o
E 43 ~4~ #764 E 12~~1 &K7542
W 43 ~4~ ~1~~1
#7 a5 3NS3 -600 Mean: 3NS4 630 40 1 |[|# 8 o J743 3NW5 460 Mean: 6DE-1 50 70 3
v KQ3 5DS-1100 500  3NS3 600 3.0 4 v QJ 6DE-1-50 -260 A 00 2
« AK542 Dif: -700 NS:-12 3NN3 600 3.0 1 ¢ 754 Dif: 510 NS:7 3NW5 460 -50 4
& KQ75 IMP: -12 EW:-3 A 00 2 & A964 IMP: 11 EW:5 3NE5 460 -50 1
& T976 & AJ832 4SXE-2 500 00 1 & AK98 a6
v J9862 + v5 5081 100 120 1 ||w 932 v AK75
¢ 9 ¢ J873 + Q83 ¢ AKJT2
& J94 S » AT8 & KJT » Q82
Fo VAN o, KQ4 oo VAN 4 QT52
N 252 ~4 9AT74 N ~~~~~ v T864
S 242 ~4 4QT6 S ~~~~~ ¢ 96
E ~~~~~ & 632 E ~54~5 &753
W o~~~ ~ ~ ~54~5
#9 & K742 6CXS-2 300 Mean: 5HW-1 100 50 2 ([|# 10 4 K654 1NS1 -90 Mean: 4SXE-2 500 9.0 1
v T73 5HW-1-100 -80 5CS-1 50 1.0 1 v Q73 1NS1-90 100  1NS2 120 1.0 1
* Q5 Dif: 400 NS:5 A 00 2 * 64 Dif: 0 NS:0 A 00 2
& AT92 IMP: 9 EW:6 5CXS-1 100 1.0 1 » KQ82 IMP: 0 EW:0 3CS3 110 00 1
o AT & QJ985 5CXN-1 100 1.0 1 ||as J83 & ATI972 1NS1 90 00 3
v AKQJ92 v 864 3HW3 140 20 1 v K8 _I_ v T642 1NS-1 100 -50 1
+ J864 * KT7 3HW4 470 -3.0 1 ||e AJO72 ¢ T8 1NN-1 4100 -5.0 1
® 4 a 73 6CXS-2 300 -60 1 ||a T64 a A7
o ¢VABN 4,63 o4VABN ,Q
N 4~~~~ 95 N 2~1~~ 9 AJ9S
S 4~~~ ~ ¢A932 S 3~1~~ ¢KQ53
E ~23 2~ &KQJ865 E ~2~21 #J953
W ~232~ ~2~21
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#1: 7 TW Open(16.39) #2: 3 B¥8(16.18) #3: 6 UNE(11.14)

5 NS: #8531 5= E(3HO) 12 6 NS: BpS4%E BRIS(BAC) 16 VP:| 8.86 11.14| Total VP: 8.86 Rank:
EW: #5153 BEZERE(EAC) -16 EW: MER #{EL(B0) -1 IMP:| 26 29 7
- - . -
#1 » K2 4SW-3 150 Mean: 4SW-3 150 4.0 1 [[# 2 » Q6 2HW2 -110 Mean: 3DE-3 150 40 1
v AQJB5 2SE2 -110 -10  4SW-2 100 3.0 1 v J93 3DE-3150 0 3HE-2 100 3.0 1
*J Dif: 260 NS:4 2SW-1 50 20 2 * KJ74 Dif: -260 NS:-3 1NW-2 100 30 1
» T9832 IMP: 6 EW:3 A 00 2 & AK82 IMP: -6 EW:-4 2HW-1 50 20 1
& A9874 s T63 25W2 10 -3.0 1 ||a J852 s AT A 00 2
v K92 v T43 2SE2 110 -3.0 1 ||w 8652 I v AQ74 2NN-1 100 -3.0 1
* A964 * KT8 3SW3 140  -40 1 ||e A * QT652 2HW2 110 3.0 3
& A » K754 2SE3 140 -40 1 ||a 9743 » J5
B+ ¢VAN ,QF5 % ¢ VBN 4 KI743
N 2~1~~ 987 N 21~21 KT
S 2~2~~ ¢Q7532 S 21~21 983
E ~1~21 #QJ6 E ~~1~~ &QT6
W ~1~31 ~~1~~
# 3 o J52 2SW2 -110 Mean: 4SW-2 200 60 1 |[|# 4 a3 3SE-1 100 Mean: 2HXN4 1070 130 1
v Q7 3DN-1-50 -40  4SW-1 100 40 1 v AKJ82 2HN4 170 190 A 00 2
+ KT952 Dif: -60 NS:-2 3DN3 110 40 1 ¢ AJTT72 Dif: -70 NS:-3 3HN4 170 1.0 2
& KQ5 IMP: -2 EW:0 2NE-1 100 40 1 & 85 IMP: -2 EW:1 2HN4 170 1.0 1
» A964 » K873 A 00 2 ||as AK85 & QT76 2DN4 130 -20 1
v T8 v AK32 3DN-1 50 00 2 ||eT9 + v 763 3SE-1 100 3.0 1
¢ Q84 7 25W2 410 20 1 ||e Q54 * 83 25W2 110 7.0 1
& JT76 a A984 4swa 620 -11.0 1 ||& AK76 & QJ93 2SE2 410 7.0 1
F*eVAN L,QT oo VAN 4 JO42
N ~21~~ «J9654 N ~44~~ Q54
S ~21~~ ¢AJG3 S ~4 4~ ~ ¢ KO
E 3~~41 a32 E 3~~2~ &T42
W 3 ~~41 3 ~~2~
#5 42 4SE4 -420 Mean: 3HN-1 100 50 1||#6 & 9754 1NS1 90 Mean: 2CE-1 100 70 1
v KT9432 3HN-1-100 -300 3SE4 170 40 1 v 983 4SN-2-100 -190 1NS1 90 70 1
¢ Q43 Dif: -320 NS:-3 4HS-2 200 3.0 1 ¢ T8732 Dif: 190 NS:7  2HS-1 50 40 1
» QJ IMP: -8 EW:-5 4HN-2 200 3.0 2 % 6 IMP: 5 EW:-3 4SN-2 100 3.0 1
4 QT98 a KJ75 A 00 2 (|a2 & QJ83 A 00 2
v38 v A5 4SE4 420  -3.0 1 ||e T7542 — vJ 4SXS-2 300 -3.0 1
¢ KT2 * 9875 4SXW4 590 7.0 2 ||e Q654 * AKJ9 4SXN-2 300 3.0 2
& AKT52 » 983 & QT8 & AJ93 3DXE3 -670 -10.0 1
* ¢V AN ,AG3 %oV ABN 4 AKTO
N ~~2~~ 9»QJ76 N ~~12~ v AKQ6
S ~~2~~ ¢AJ6 S ~~12~ o
E 43 ~4~ #764 E 12~~1 &K7542
W 43 ~4~ ~1~~1
#7 a5 3NS3 600 Mean: 3NS4 630 40 1 |[|# 8 o J743 3NW5 -460 Mean: 6DE-1 50 70 3
v KQ3 3NS3 600 500 3NS3 600 3.0 4 v QJ 6DE-150 -260 A 00 2
« AK542 Dif: 0 NS:3 3NN3 600 3.0 1 ¢ 754 Dif: -510 NS:-5 3NW5 460 -50 4
& KQ75 IMP: 0 EW:-3 A 00 2 & A964 IMP: -11 EW:-7 3NE5 460 5.0 1
& T976 & AJ832 4SXE-2 500 00 1 & AK98 a6
v J9862 + v5 5081 100 120 1 ||w 932 v AK75
¢ 9 ¢ J873 + Q83 ¢ AKJT2
& J94 S » AT8 & KJT » Q82
Fo VAN o, KQ4 oo VAN 4 QT52
N 252 ~4 9AT74 N ~~~~~ v T864
S 242 ~4 4QT6 S ~~~~~ ¢ 96
E ~~~~~ & 632 E ~54~5 &753
W o~~~ ~ ~ ~54~5
#9 & K742 5HW-1 100 Mean: 5HW-1 100 50 2 ([|# 10 4 K654 4SXE-2 500 Mean: 4SXE-2 500 9.0 1
v T73 3HW3 -140 -80 5CS-1 50 1.0 1 v Q73 1NS190 100 1NS2 120 1.0 1
* Q5 Dif: 240 NS:5 A 00 2 * 64 Dif: 410 NS:9 A 00 2
& AT92 IMP: 6 EW:2 5CXS-1 100 1.0 1 » KQ82 IMP: 9 EW:0 3CS3 110 00 1
o AT & QJ985 5CXN-1 100 1.0 1 ||as J83 & ATI972 1NS1 90 00 3
v AKQJ92 v 864 3HW3 140 20 1 v K8 _I_ v T642 1NS-1 100 -50 1
+ J864 * KT7 3HW4 470 -3.0 1 ||e AJO72 ¢ T8 1NN-1 4100 -5.0 1
® 4 a 73 6CXS-2 300 -60 1 ||a T64 a A7
o ¢VABN 4,63 o4VABN ,Q
N 4~~~~ 95 N 2~1~~ 9 AJ9S
S 4~~~ ~ ¢A932 S 3~1~~ ¢KQ53
E ~23 2~ &KQJ865 E ~2~21 #J953
W ~232~ ~2~21




111# ¥

N W’}%’ﬁm%i}% 1 &

e R F ==> Rl

#1: 7 TW Open(16.39) #2: 3 B¥8(16.18) #3: 6 UNE(11.14)

6 NS: By 4t BREEREAC) 16 5 NS: ##53H fIRE(EI0) 12 VP:|11.14 : 8.86 | Total VP: 11.14 Rank:
EW &L HRELEEIO) -12 EW: #1E%} BRIER(BAC) 1 IMP:| 29 26 3
. -
#1 'y K2 4SW-3 -150 Mean: 4SW-3 150 4.0 1 [[# 2 » Q6 2HW2 110 Mean: 3DE-3 150 40 1
v AQJB5 2SE2110 -10  4SW-2 100 3.0 1 v J93 3DE-3-150 © 3HE-2 100 3.0 1
*J Dif: -260 NS:-3 2SW-1 50 20 2 * KJ74 Dif: 260 NS:4 1NW-2 100 30 1
» T9832 IMP: -6 EW:-4 A 00 2 & AK82 IMP: 6 EW:3 2HW-1 50 20 1
# A9874 s T63 2sW2 10 -3.0 1 ||a J852 » AT A 00 2
v K92 v T43 2SE2 110 -3.0 1 ||w 8652 I v AQ74 2NN-1 100 -3.0 1
. A964 * KT8 3SW3 140  -40 1 ||e A * QT652 2HW2 110 3.0 3
& A » K754 2SE3 140  -40 1 ||a 9743 » J5
B+ ¢VAN ,QF5 % ¢ VBN 4 KI743
N 2~1~~ 987 N 21~21 KT
S 2~2~~ ¢Q7532 S 21~21 983
E ~1~21 #QJ6 E ~~1~~ &QT6
W ~1~31 ~~1~~
# 3 o J52 2SW2 110 Mean: 4SW-2 200 60 1 |[|# 4 a3 3SE-1-100 Mean: 2HXN4 1070 130 1
v Q7 3DN-150 -40  4SW-1 100 40 1 v AKJ82 2HN4 -170 190 A 00 2
+ KT952 Dif: 60 NS:0 3DN3 110 40 1 ¢ AJTT72 Dif: 70 NS:-1  3HN4 170 1.0 2
& KQ5 IMP: 2 EW:2 2NE-1 100 40 1 & 85 IMP: 2 EW:3 2HN4 170 1.0 1
» A964 » K873 A 00 2 ||as AK85 & QT76 2DN4 130 -20 1
v T8 v AK32 3DN-1 50 00 2 ||eT9 + v 763 3SE-1 100 3.0 1
¢ Q84 7 25W2 410 20 1 ||e Q54 + 83 25W2 110 7.0 1
& JT76 » A984 4swa 620 -11.0 1 ||& AK76 a QJ93 2SE2 410 7.0 1
F*eVAN L,QT oo VAN 4 JO42
N ~21~~ «J9654 N ~44~~ Q54
S ~21~~ ¢AJ63 S ~4 4~ ~ ¢ KO
E 3~~41 a32 E 3~~2~ &T42
W 3 ~~41 3 ~~2~
#5 42 4SE4 420 Mean: 3HN-1 100 50 1||#6 & 9754 1NS1 -90 Mean: 2CE-1 100 70 1
v KT9432 3HN-1100 -300 3SE4 170 40 1 v 983 4SN-2100 -190  1NS1 90 70 1
¢ Q43 Dif: 320 NS:5 4HS-2 200 3.0 1 ¢ T8732 Dif: -190 NS:3  2HS-1 50 40 1
» QJ IMP: 8 EW:3 4HN-2 200 3.0 2 % 6 IMP: -5 EW:-7 4SN-2 100 3.0 1
s QT98 a KJ75 A 00 2 (|a2 » QJB3 A 00 2
v38 v A5 4SE4 420  -3.0 1 ||e T7542 — vJ 4SXS-2 300 -3.0 1
¢ KT2 * 9875 4SXW4 590 <70 2 ||e Q654 * AKJ9 4SXN-2 300 3.0 2
& AKT52 & 983 & QT8 & AJ93 3DXE3 -670 -10.0 1
* ¢V AN ,AG3 % ¢ VAN 4 AKT6
N ~~2~~ 9»QJ76 N ~~12~ v AKQ6
S ~~2~~ ¢AJ6 S ~~12~ o
E 43 ~4~ #764 E 12~~1 &K7542
W 43 ~4~ ~1~~1
#7 a5 3NS3 -600 Mean: 3NS4 630 40 1 |[|# 8 o J743 3NW5 460 Mean: 6DE-1 50 70 3
v KQ3 3NS3 -600 500 3NS3 600 3.0 4 v QJ 6DE-1-50 -260 A 00 2
« AK542 Dif: 0 NS:3 3NN3 600 3.0 1 ¢ 754 Dif: 510 NS:7 3NW5 460 -50 4
& KQ75 IMP: 0 EW:-3 A 00 2 & A964 IMP: 11 EW:5 3NE5 460 -50 1
& T976 & AJ832 4SXE-2 500 00 1 & AK98 a6
v J9862 + v5 5081 100 120 1 ||w 932 v AK75
¢ 9 ¢ J873 + Q83 ¢ AKJT2
& J94 S » AT8 & KJT » Q82
Fo VAN o, KQ4 oo VAN 4 QT52
N 252 ~4 9AT74 N ~~~~~ v T864
S 242 ~4 4QT6 S ~~~~~ ¢ 96
E ~~~~~ & 632 E ~54~5 &753
W o~~~ ~ ~ ~54~5
#9 & K742 5HW-1 -100 Mean: 5HW-1 100 50 2 ([|# 10 4 K654 4SXE-2 -500 Mean: 4SXE-2 500 9.0 1
v T73 3HW3 140 -80 5CS-1 50 1.0 1 v Q73 1NS1-90 100  1NS2 120 1.0 1
* Q5 Dif: -240 Ns:-2 A 00 2 ¢ 64 Dif: -410 NS:0 A 00 2
& AT92 IMP: -6 EW:-5 5CXS-1 100 1.0 1 » KQ82 IMP: -9 EW:-9 3CS3 110 00 1
o AT & QJ985 5CXN-1 100 1.0 1 ||as J83 & ATI972 1NS1 90 00 3
v AKQJ92 v 864 3HW3 140 20 1 v K8 _I_ v T642 1NS-1 100 -50 1
+ J864 * KT7 3HW4 470 -3.0 1 ||e AJO72 ¢ T8 1NN-1 4100 -5.0 1
® 4 » 73 6CXS-2 300 -60 1 ||a T64 a A7
o ¢VABN 4,63 o4VABN ,Q
N 4~~~~ 95 N 2~1~~ 9 AJ9S
S 4~~~ ~ ¢A932 S 3~1~~ ¢KQ53
E ~23 2~ &KQJ865 E ~2~21 #J953
W ~232~ ~2~21




111# ¥

N W’}%’ﬁm%i}% 1 &

e R F ==> Rl

#1: 7 TW Open(16.39) #2: 3 B¥8(16.18) #3: 6 UNE(11.14)

7 NS: ZHHIE 5R{EBHGHO) 10 8 NS: BREH BREI5(BAC) -11 VP:| 16.39 : 3.61 Total VP: 16.39 Rank:
EW FIHAR EBEEIC) 11 EW: 255 BEE(BRO) -1 IMP:| 28 : 6 1
.
#1 'y K2 2SW-150 Mean: 4SW-3 150 4.0 1 [[# 2 » Q6 2NN-1 -100 Mean: 3DE-3 150 40 1
v AQJB5 2SW-150 -10  4SW-2 100 3.0 1 v J93 2HW2-110 o© 3HE-2 100 3.0 1
*J Dif: 0 NS:2 2SW-1 50 20 2 * KJ74 Dif: 10 NS:-3 1NW-2 100 30 1
» T9832 IMP: 0 EW:2 A 00 2 & AK82 IMP: 0 EW:3 2HW-1 50 20 1
& A9874 s T63 2sW2 10 -3.0 1 ||a J852 s AT A 00 2
v K92 v T43 2SE2 110 -3.0 1 ||w 8652 I v AQ74 2NN-1 100 -3.0 1
. A964 * KT8 3SW3 140  -40 1 ||e A ¢ QT652 2HW2 110 3.0 3
& A » K754 2SE3 140  -40 1 ||a 9743 » J5
B+ ¢VAN ,QF5 % ¢ VBN 4 KI743
N 2~1~~ 987 N 21~21 KT
S 2~2~~ ¢Q7532 S 21~21 983
E ~1~21 #QJ6 E ~~1~~ &QT6
W ~1~31 ~~1~~
# 3 o J52 3DN3 110 Mean: 4SW-2 200 60 1 |[|# 4 a3 2DN4 130 Mean: 2HXN4 1070 130 1
v Q7 3DN-1-50 -40  4SW-1 100 40 1 v AKJ82 2SE2-110 190 A 00 2
+ KT952 Dif: 160 NS:4 3DN3 110 40 1 ¢ AJTT72 Dif: 240 NS:-2 3HN4 170 1.0 2
& KQ5 IMP: 4 EW:0 2NE-1 100 40 1 & 85 IMP: 6 EW:7 2HN4 170 1.0 1
& A964 » K873 A 00 2 ||as AK85 & QT76 2DN4 130 -20 1
v T8 v AK32 3DN-1 50 00 2 ||eT9 + v 763 3SE-1 100 3.0 1
¢ Q84 7 25W2 410 20 1 ||e Q54 * 83 25W2 410 7.0 1
& JT76 » A984 4swa 620 -11.0 1 ||& AK76 a QJ93 2SE2 410 7.0 1
F*eVAN L,QT oo VAN 4 JO42
N ~21~~ «J9654 N ~44~~ Q54
S ~21~~ ¢AJG3 S ~4 4~ ~ ¢ KO
E 3~~41 a32 E 3~~2~ &T42
W 3 ~~41 3 ~~2~
#5 42 4HS-2 -200 Mean: 3HN-1 100 50 1||#6 & 9754 4SXS-2 -300 Mean: 2CE-1 100 70 1
v KT9432 4HN-2 -200 -300 3SE4 170 40 1 v 983 2HS-1-50 -190 1NS1 90 70 1
¢ Q43 Dif: 0 NS:3 4HS-2 200 3.0 1 ¢ T8732 Dif: -250 NS:-3 2HS-1 50 40 1
» QJ IMP: 0 EW:-3 4HN-2 200 3.0 2 % 6 IMP: -6 EW:-4 4SN-2 100 3.0 1
4 QT98 a KJ75 A 00 2 (|a2 » QJB3 A 00 2
v38 v A5 4SE4 420  -3.0 1 ||e T7542 — vJ 4SXS-2 300 -3.0 1
¢ KT2 * 9875 4SXW4 590 <70 2 ||e Q654 * AKJ9 4SXN-2 300 3.0 2
& AKT52 » 983 & QT8 & AJ93 3DXE3 -670 -10.0 1
* ¢V AN ,AG3 % ¢ VAN 4 AKT6
N ~~2~~ 9»QJ76 N ~~12~ v AKQ6
S ~~2~~ ¢AJ6 S ~~12~ o
E 43 ~4~ #764 E 12~~1 &K7542
W 43 ~4~ ~1~~1
#7 a5 3NS3 600 Mean: 3NS4 630 40 1 |[|# 8 a J743 6DE-1 50 Mean: 6DE-1 50 70 3
v KQ3 3NN3 600 500  3NS3 600 3.0 4 v QJ 3NW5-460 -260 A 00 2
o AK542 Dif: 0 NS:3 3NN3 600 3.0 1 ¢ 754 Dif: 510 NS:7 3NW5 460 -50 4
& KQ75 IMP: 0 EW:-3 A 00 2 & A964 IMP: 11 EW:5 3NE5 460 5.0 1
» T976 » AJ832 4SXE2 500 0.0 1 ||a AK98 a6
v J9862 + v5 50S1 100 120 1 ||w 932 v AK75
¢ 9 ¢ J873 + Q83 ¢ AKJT2
& J94 S » AT8 & KJT » Q82
Fo VAN o, KQ4 oo VAN 4 QT52
N 252 ~4 9AT74 N ~~~~~ v T864
S 242 ~4 4QT6 S ~~~~~ ¢ 96
E ~~~~~ & 632 E ~54~5 &753
W o~~~ ~ ~ ~54~5
#9 & K742 5CXN-1-100 Mean: 5HW-1 100 50 2 ([|# 10 4 K654 3CS3 110 Mean: 4SXE-2 500 9.0 1
v T73 3HW4 -170 -80  5CS-1 50 1.0 1 v Q73 1NN-1-100 100  1NS2 120 1.0 1
* Q5 Dif: 70 NS:-1 A 00 2 * 64 Dif: 210 NS:0 A 00 2
& AT92 IMP: 2 EW:3 5CXS-1 100 1.0 1 » KQ82 IMP: 5 EW:5 3CS3 110 00 1
o AT & QJ985 5CXN-1 100 1.0 1 ||as J83 & ATI972 1NS1 90 00 3
v AKQJ92 v 864 3HW3 140 20 1 v K8 _I_ v T642 1NS-1 100 -50 1
+ J864 * KT7 3HW4 470 -3.0 1 ||e AJO72 ¢ T8 1NN-1 4100 -5.0 1
® 4 a 73 6CXS-2 300 -60 1 ||a T64 a A7
o ¢VABN 4,63 o4VABN ,Q
N 4~~~~ 95 N 2~1~~ 9 AJ9S
S 4~~~ ~ ¢A932 S 3~1~~ ¢KQ53
E ~23 2~ &KQJ865 E ~2~21 #J953
W ~232~ ~2~21
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N W’}%’ﬁm%i}% 1 &

e R F ==> Rl

#1: 7 TW Open(16.39) #2: 3 B¥8(16.18) #3: 6 UNE(11.14)

8 NS: B BVERGERC) -11 7 NS: 2883E SR{2AH(FFO) 10 VP:| 3.61 16.39| Total VP: 3.61 Rank:
EW: B SEEEI0) -10 EW: EI7R EBE(BAC) 11 IMP:| 6 ;28 9
- - .
#1 a K2 2SW-1 -50 Mean: 4SW-3 150 4.0 1 [[|# 2 » Q6 2NN-1 100 Mean: 3DE-3 150 40 1
v AQJB5 2SW-1-50 -10  4SW-2 100 3.0 1 v J93 2HW2110 © 3HE-2 100 30 1
*J Dif: 0 NS:2 2SW-1 50 20 2 * KJ74 Dif: 10 NS:-3 1NW-2 100 30 1
» T9832 IMP: 0 EW:2 A 00 2 & AK82 IMP: 0 EW:3 2HW-1 50 20 1
& A9874 s T63 25W2 10 -3.0 1 ||a J852 s AT A 00 2
v K92 v T43 2SE2 110 -3.0 1 ||w 8652 I v AQ74 2NN-1 100 -3.0 1
* A964 * KT8 3SW3 140  -40 1 ||e A ¢ QT652 2HW2 110 3.0 3
& A » K754 2SE3 140 -40 1 ||a 9743 » J5
B+ ¢VAN ,QF5 % ¢ VBN 4 KI743
N 2~1~~ 987 N 21~21 KT
S 2~2~~ ¢Q7532 S 21~21 983
E~1~21 «QJ6 E ~~1~~ &QT6
W ~1~31 ~~1~~
# 3 o J52 3DN3 -110 Mean: 4SW-2 200 60 1 |[|# 4 a3 2DN4 -130 Mean: 2HXN4 1070 130 1
v Q7 3DN-150 -40  4SW-1 100 40 1 v AKJ82 2SE2110 190 A 00 2
+ KT952 Dif: -160 NS:0 3DN3 110 40 1 ¢ AJTT72 Dif: -240 NS:-7 3HN4 170 1.0 2
& KQ5 IMP: -4 EW:-4 2NE-1 100 40 1 & 85 IMP: -6 EW:2 2HN4 170 1.0 1
& A964 » K873 A 00 2 ||as AK85 & QT76 2DN4 130 -20 1
v T8 v AK32 3DN-1 50 00 2 ||eT9 + v 763 3SE-1 100 3.0 1
¢ Q84 7 25W2 410 20 1 ||e Q54 * 83 25W2 410 7.0 1
& JT76 a A984 4swa 620 -11.0 1 ||& AK76 & QJ93 2SE2 410 7.0 1
F*eVAN L,QT oo VAN 4 JO42
N ~21~~ «J9654 N ~44~~ Q54
S ~21~~ ¢AJB3 S ~4 4 ~~ ¢ K9%
E 3~~41 a32 E 3~~2~ &T42
W 3 ~~41 3 ~~2~
#5 42 4HS-2 200 Mean: 3HN-1 100 50 1||#6 & 9754 4SXS-2 300 Mean: 2CE-1 100 70 1
v KT9432 4HN-2 200 -300 3SE4 170 40 1 v 983 2HS-150 -190 NSt 920 70 1
¢+ Q43 Dif: 0 NS:3 4HS-2 200 30 1 ¢ T8732 Dif: 250 NS:4 2HS-1 50 40 1
» QJ IMP: 0 EW:-3 4HN-2 200 3.0 2 % 6 IMP: 6 EW:3 4SN-2 100 3.0 1
4 QT98 a KJ75 A 00 2 (|a2 & QJ83 A 00 2
v38 v A5 4SE4 420  -3.0 1 ||e T7542 — vJ 4SXS-2 300 -3.0 1
¢ KT2 * 9875 4SXW4 590 7.0 2 ||e Q654 * AKJ9 4SXN-2 300 3.0 2
& AKT52 » 983 & QT8 & AJ93 3DXE3 -670 -10.0 1
* ¢V AN ,AG3 %oV ABN 4 AKTO
N ~~2~~ 9»QJ76 N ~~12~ v AKQ6
S ~~2~~ ¢AJ6 S ~~12~ o
E 43~4~ &764 E 12~~1 &K7542
W 43 ~4~ ~1~~1
#7 a5 3NS3 -600 Mean: 3NS4 630 40 1 |[|# 8 o J743 6DE-1-50 Mean: 6DE-1 50 70 3
v KQ3 3NN3 -600 500  3NS3 600 3.0 4 v QJ 3NW5460 -260 A 00 2
« AK542 Dif: 0 NS:3 3NN3 600 3.0 1 ¢ 754 Dif: -510 NS:-5 3NW5 460 -50 4
& KQ75 IMP: 0 EW:-3 A 00 2 & A964 IMP: -11 EW:-7 3NE5 460 5.0 1
& T976 & AJ832 4SXE-2 500 00 1 & AK98 a6
v J9862 + v5 5081 100 120 1 ||w 932 v AK75
¢ 9 ¢ J873 + Q83 ¢ AKJT2
& J94 S » AT8 & KJT » Q82
P VAN o, KQ4 oo VAN 4 QT52
N 252~4 9oAT74 N ~~~~~ v T864
S 242~4 +QT6 S ~~~~ ~ 96
E ~~~~~ & 632 E ~54~5 &753
W~~~ ~ ~ ~54~5
#9 & K742 5CXN-1 100 Mean: 5HW-1 100 50 2 ([|# 10 4 K654 3CS3 -110 Mean: 4SXE-2 500 9.0 1
v T73 3HW4 170 -80  5CS-1 50 1.0 1 v Q73 1NN-1 100 100  1NS2 120 1.0 1
* Q5 Dif: -70 Ns:-3 A 00 2 * 64 Dif: -210 NS:-5 A 00 2
& AT92 IMP: -2 EW:1 5CXS-1 100 1.0 1 » KQ82 IMP: -5 EW:0 3CS3 110 00 1
o AT & QJ985 5CXN-1 100 1.0 1 ||as J83 & ATI972 1NS1 90 00 3
v AKQJ92 v 864 3HW3 140 20 1 v K8 _I_ v T642 1NS-1 100 -50 1
+ J864 * KT7 3HW4 470 -3.0 1 ||e AJO72 ¢ T8 1NN-1 4100 -5.0 1
® 4 a 73 6CXS-2 300 -60 1 ||a T64 a A7
o ¢VABN 4,63 o4VABN ,Q
N 4~~~~ 95 N 2~1~~ 9 AJ9S
S 4~~~ ~ ¢A932 S 3~1~~ ¢KQ53
E ~23 2~ &KQJ865 E ~2~21 #J953
W ~232~ ~2~21




v ‘; —_—
1 1 E5Z 2 RBERFHLETRE = RI 1
#1: 7 TW Open(16. 39) #2:3 %?Ea(w 18) #3: 6 [J_I(ll 14)
9 NS: (580)0 10 NS: (EiC)0 VP:| 10.00 : 10.00 | Total VP: 10.00 Rank:
EW: (HC) 0 EW: (F0) 0 IMP:] 0 : 0 5
. -
# 1 » K2 Mean: 4SW-3 150 4.0 1 |[|# 2 » Q6 Mean: 3DE-3 150 40 1
v AQJB5 40 4swW-2 100 3.0 1 v J93 0 3HE-2 100 30 1
*J Dif: NS:0 2SW-1 50 20 2 * KJ74 Dif: NS:0 1NW-2 100 30 1
» 79832 IMP: EW:0 A 00 2 » AK82 IMP: EW:0 2HW-1 50 20 1
# A9874 f # T63 25W2 410 3.0 1 ||a J852 s AT A 0.0 2
v K92 v T43 2SE2 410 3.0 1 ||w 8652 I v AQ74 2NN-1 400 3.0 1
. A964 ¢ KT8 3sW3 140 40 1 ||e A ¢ QT652 2HW2 410 30 3
a A » K754 2SE3 140 40 1 ||a 9743 » J5
oV ABN Q5 oo VAN 4 KI743
N 2~1~~ 987 N 21~21 KT
S 2~2~~ ¢Q7532 S 21~21 ¢983
E~1~21 &QJ6 E~~1~~ &QT6
W ~1~31 ~~1~~
# 3 » J52 Mean: 4SW-2 200 60 1 ||# 4 a3 Mean: 2HXN4 1070 130 1
v Q7 40 4SW-1 100 40 1 v AKJ82 190 A 0.0 2
* KT952 Dif: NS:0 3DN3 110 40 1 o AJTT72 Dif: NS:0 3HN4 170 1.0 2
& KQ5 IMP: EW:0 2NE-1 100 40 1 & 85 IMP: EW:0 2HN4 170 1.0 1
» A964 » K873 A 00 2 ||as AK85 & QT76 2DN4 130 -20 1
v T8 v AK32 3DN-1 -50 00 2 ||eT9 + v 763 3SE-1 100 -3.0 1
+ Q84 *7 2sW2 410 20 1 ||e Q54 ¢ 83 25W2 410 7.0 1
& JT76 & A984 4Sw4 620 -11.0 1 ||a& AK76 & QJ93 2SE2 410 7.0 1
F*eVAN L,QT oo VAN 4 JO42
N ~21~~ «J9654 N ~44~~ Q54
S ~21~~ ¢AJ63 S ~4 4~ ~ ¢ KO
E3~~41a32 E3~~2~ aT42
W 3 ~~41 3~~2~
#5 a 42 Mean: 3HN-1 4100 50 1||#6 a 9754 Mean: 2CE-1 100 70 1
v KT9432 300 3SE4 470 40 1 v 983 4190 1NS1 90 70 1
¢ Q43 Dif: NS:0 4HS-2 200 30 1 o T8732 Dif: NS:0 2HS-1 50 40 1
»QJ IMP: EW:0 4HN-2 200 30 2 * 6 IMP: EW:0 4SN-2 400 3.0 1
4 QT98 & KJ75 A 00 2 (|a2 & QJ83 A 00 2
v 38 v A5 4SE4 420 30 1 ||e T7542 —_ vl 4sxs-2  -300 3.0 1
* KT2 ¢ 9875 asxwa 590 7.0 2 ||e Q654 ¢ AKJ9 4SXN-2  -300 3.0 2
& AKT52 & 983 & QT8 & AJ93 3DXE3 -670 -10.0 1
P ¢ VABN ,AG3 %o ¢ VAN 4 AKT6
N ~~2~~ 9»QJ76 N ~~12~ v AKQ6
S ~~2~~ oA S ~~12~ o
E 43~4~ #764 E 12~~1 &K7542
W 43 ~4~ ~1~~1
#7 a5 Mean: 3NS4 630 40 1 ||#8 » J743 Mean: 6DE-1 50 70 3
v KQ3 500 3NS3 600 30 4 v QJ 260 A 00 2
+ AK542 Dif: NS:0 3NN3 600 30 1 ¢ 754 Dif: NS:0 3NW5 460  -5.0 4
& KQ75 IMP: EW:0 A 00 2 & A964 IMP: EW:0 3NE5 -460 -50 1
& T976 & AJ832 4SXE-2 500 00 1 & AK98 a6
v J9862 + v5 5081 100 120 1 ||w 932 v AK75
9 ¢ J873 ¢ Q83 ¢ AKJT2
& J94 S & AT8 & KJT » Q82
P VAN o, KQ4 oo VABN 4, QT52
N 252~4 9oAT74 N ~~~~~ v T864
S 242~4 +QT6 S ~~~~ ~ 96
E ~~~~~ & 632 E ~54~5 &753
W~~~ ~~ ~54~5
#9 a K742 Mean: 5HW-1 100 50 2 |[|# 10 » K654 Mean: 4SXE-2 500 9.0 1
v T73 -80  5CS-1 50 1.0 1 v Q73 100  1NS2 120 1.0 1
* Q5 Dif: NS:0 A 00 2 * 64 Dif: NS:0 A 00 2
» AT92 IMP: EW:0 5CXS-1 100 -1.0 1 » KQ82 IMP: EW:0 3CS3 110 00 1
o AT & QJ985 5CXN-1 100 1.0 1 ||as J83 & ATI972 1NS1 90 00 3
v AKQJ92 |E v 864 3HW3 140 20 1 v K8 _I_ v T642 1NS-1 100 -50 1
+ J864 ¢ KT7 3HW4 470 3.0 1 ||e AJ972 ﬁ ¢ T8 1NN-1 400 5.0 1
* 4 » 73 6CXS-2  -300 -6.0 1 || T64 » A7
o ¢VABN 4,63 o4VABN ,Q
N 4~~~~ 95 N 2~1~~ 9 AJ9S
S 4~~~ ~ ¢A932 S 3~1~~ ¢KQ53
E ~23 2~ &KQJ865 E ~2~21 #J953
W ~232~ ~2~21




v ‘; —_—
1 111 F<F >ABERFHLETHRE == R 1
#1: 7 TW Open(16. 39) #2:3 %—?m(m 18) #3: 6 [J_I(ll 14)
1 O NS: (BC) 0 9 NS: (F80)0 VP:| 10.00 : 10.00| Total VP: -80.00 Rank:
EW: (550)0 EW: (BiC) 0 IMP:| 0 ;0 10
- .
# 1 » K2 A Mean: 4SW-3 150 4.0 1 [[# 2 » Q6 A Mean: 3DE-3 150 40 1
v AQJB5 A 10  4SW-2 100 3.0 1 v J93 A o0 3HE-2 100 3.0 1
*J Dif: 0 NS:0 2Sw-1 50 20 2 * KJ74 Dif: 0 NS:0 1NW-2 100 30 1
» T9832 IMP: 0 EW:0 A 00 2 & AK82 IMP: 0 EW:0 2HW-1 50 20 1
& A9874 f s T63 2sW2 10 -3.0 1 ||a J852 s AT A 00 2
v K92 v T43 2SE2 110 -3.0 1 ||w 8652 I v AQ74 2NN-1 100 -3.0 1
* A964 * KT8 3SW3 140  -40 1 ||e A * QT652 2HW2 110 3.0 3
& A » K754 2SE3 140 -40 1 ||a 9743 » J5
B+ ¢VAN ,QF5 % ¢ VBN 4 KI743
N 2~1~~ 987 N 21~21 KT
S 2~2~~ ¢Q7532 S 21~21 983
E ~1~21 #QJ6 E ~~1~~ &QT6
W ~1~31 ~~1~~
# 3 o J52 A Mean: 4SW-2 200 60 1 |[|# 4 a3 A Mean: 2HXN4 1070 130 1
v Q7 A -40  4SW-1 100 40 1 v AKJ82 A 19 A 00 2
+ KT952 Dif: 0 NS:0 3DN3 110 40 1 ¢ AJTT72 Dif: 0 NS:0 3HN4 170 1.0 2
& KQ5 IMP: 0 EW:0 2NE-1 100 40 1 & 85 IMP: 0 EW:0 2HN4 170 1.0 1
» A964 » K873 A 00 2 ||as AK85 & QT76 2DN4 130 -20 1
v T8 v AK32 3DN-1 50 00 2 ||eT9 + v 763 3SE-1 100 3.0 1
¢ Q84 7 25W2 410 20 1 ||e Q54 * 83 25W2 110 7.0 1
& JT76 » A984 4swa 620 -11.0 1 ||& AK76 & QJ93 2SE2 410 7.0 1
F*eVAN L,QT oo VAN 4 JO42
N ~21~~ «J9654 N ~44~~ Q54
S ~21~~ ¢AJG3 S ~4 4~ ~ ¢ KO
E 3~~41 a32 E 3~~2~ &T42
W 3 ~~41 3 ~~2~
#5 442 A Mean: 3HN-1 100 50 1||#6 s 9754 A Mean: 2CE-1 100 7.0 1
v KT9432 A -300 3SE4 170 40 1 v 983 A 190  1INS1 90 70 1
¢ Q43 Dif: 0 NS:0 4HS-2 200 3.0 1 ¢ T8732 Dif: 0 NS:0 2HS-1 50 40 1
» QJ IMP: 0 EW:0 4HN-2 200 3.0 2 % 6 IMP: 0 EW:0 4SN-2 100 3.0 1
4 QT98 a KJ75 A 00 2 (|a2 & QJ83 A 00 2
v38 v A5 4SE4 420  -3.0 1 ||e T7542 — vJ 4SXS-2 300 -3.0 1
¢ KT2 * 9875 4SXW4 590 7.0 2 ||e Q654 * AKJ9 4SXN-2 300 3.0 2
& AKT52 » 983 & QT8 & AJ93 3DXE3 -670 -10.0 1
* ¢V AN ,AG3 %oV ABN 4 AKTO
N ~~2~~ 9»QJ76 N ~~12~ v AKQ6
S ~~2~~ ¢AJ6 S ~~12~ o
E 43 ~4~ #764 E 12~~1 &K7542
W 43 ~4~ ~1~~1
#7 a5 A Mean: 3NS4 630 40 1 |[|# 8 o J743 A Mean: 6DE-1 50 70 3
v KQ3 A 500 3NS3 600 3.0 4 v QJ A 260 A 00 2
« AK542 Dif: 0 NS:0 3NN3 600 3.0 1 ¢ 754 Dif: 0 NS:0 3NW5 460 -50 4
& KQ75 IMP: 0 EW:0 A 00 2 & A964 IMP: 0 EW:0 3NE5 460 -50 1
& T976 & AJ832 4SXE-2 500 00 1 & AK98 a6
v J9862 + v5 5081 100 120 1 ||w 932 v AK75
¢ 9 ¢ J873 + Q83 ¢ AKJT2
& J94 S » AT8 & KJT » Q82
Fo VAN o, KQ4 oo VAN 4 QT52
N 252 ~4 9AT74 N ~~~~~ v T864
S 242 ~4 4QT6 S ~~~~~ ¢ 96
E ~~~~~ & 632 E ~54~5 &753
W o~~~ ~ ~ ~54~5
#9 o K742 A Mean: 5HW-1 100 50 2 |[|# 10 & K654 A Mean: 4SXE-2 500 9.0 1
v T73 A 80 5CS-1 50 1.0 1 v Q73 A 100 1NS2 120 1.0 1
* Q5 Dif: 0 NS:0 A 00 2 * 64 Dif: 0 NS:0 A 00 2
& AT92 IMP: 0 EW:0 5CXS-1 100 1.0 1 » KQ82 IMP: 0 EW:0 3CS3 110 00 1
o AT & QJ985 5CXN-1 100 1.0 1 ||as J83 & ATI972 1NS1 90 00 3
v AKQJ92 |E v 864 3HW3 140 20 1 v K8 _I_ v T642 1NS-1 100 -50 1
+ J864 * KT7 3HW4 470 -3.0 1 ||e AJO72 ﬁ ¢ T8 1NN-1 4100 -5.0 1
® 4 a 73 6CXS-2 300 -60 1 ||a T64 a A7
o ¢VABN 4,63 o4VABN ,Q
N 4~~~~ 95 N 2~1~~ 9 AJ9S
S 4~~~ ~ ¢A932 S 3~1~~ ¢KQ53
E ~23 2~ &KQJ865 E ~2~21 #J953
W ~232~ ~2~21




